
0

0.2

0.4

0.6

0.8

1

0 10 20 30 40 50 60 70 80 90 100

x(
t)

t = time�����

0.0 1.0
0.0

1.0

0.0 1.0
0.0

1.0

����� �	�
�

�
���������������������! 
"�#%$&"('*),+.-0/
"1$&24365879	:<;>= +@?�A>2CBD$&"�)EBD#FBHG&"(BI#KJ�L�"('NMPO1QR#%$N+
SC"�O�"�TUBU#V$&�W+X-�BIG&"��PY[Z\ O�"�)E"�$]'IQ['UO�B!^ = S<?XA>2�B0#%$N+�$&B4#F-C+
'UBR�._`$&2�BR#&+
)EBR#%Q[#%$&BU)a#F2C�b/
#c2���/d#FLCS�#FBbJ�LCBUe�$X#%$&BU-�#]�._`$&2�B
#%Q[#%$&BU)f 
BI$R-CL�O�O(BUYg"�e�$&�h$&2�BiO�"�)E"�$W'IQ['UO�B!^ = 'b?WA>2CBi#%$N+�$&Bj#F-<+.'UBj�._D$&2CB4#&+
)EBj#%Q[#%$&BU)kSCL[$W/
"1$&2
�!e�O1Qh$&2�BW'U�!ePl@BHG& !BbYml!+.O(L�BU#*_n�.G]o<pD-CO��
$F$&BUYrq[#F�,+
#*$&�j'UO�Bb+�G&O1Q�#F2���/s$&2CBcO("�)E"1$
'IQ['UO�B!t #XO(��'U+.$&"��!er^
unv wnxzy {.| y }n~]���������(�I���z� �z� � �z�(�(����� �z�z� �P�(�H�%�z� �z� ���@���(�I���z� �1�H���1��� ��� �z� � �(�z�b�(�N��� �(��� �z� � �H���(�(�(� �U���(�I��� � �@�z�(� � �1�U� �%�(�z�!�&�z�1��� �z� � �z���
�	}��� (y v w�¡(¢`£¤¦¥�§(§z¨1©�ªz«(«z«P¬  ­�®(y  �¯Cv ° ° v ®z~±un° ®z²1{z��³&° °�y v w�¡(¢ ´Hy {1´ {(y µ1{1¶��H·n{(y ~bv ´ ´ v }n¸Uw�y ®�¸�¢ {1¶.| }�y%{1¶nx £ ®�¢ v }�¸(®z° ¹�´ £ ¡(}�° ®(y °   ¹n®z¸(¶��({(y ´ }�¸(®z°�x(´ {��(y }zµ(v ¶z{1¶.¢ ¡�®(¢&¢ ¡�v ´H¸(}(¢ v £ {�y {(~I®zv ¸�´Hv ¸�¢ ® £ ¢�®�¸�¶�xz¸(®z° ¢ {(y {1¶��&º%}�(®(y ¢F}�|F¢ ¡�v ´F»%}zy ².~I®1  ¬ {�y {(�(y }�¶nx £ {1¶b| }zy £ }�~b~I{(y £ v ®z°n�zx�y �z}(´ {1´F»Nv ¢ ¡�}nx�¢N�zy v }zy�»Ny v ¢ ¢ {(¸.�z{(y ~bv ´ ´ v }�¸U| y }n~�¢ ¡�{.¼!½ ¾�·�y {1´ ´1�


